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#17 fix,y) = y- x

(a) D : 12
(b) R : R

C levelcurvescre
essay

e) domain is2.unbounded
, openand closed.

Gpg. 808)

Deth: a region in R is

#18 fix
, y) = Fox #e banded if it is contained

(a) D : y-xz0 inside a disk of radius r.

yax Otherwise
,

the region is unbounded,

(b) R : IR

() level curves are : livesM = C - yu= c -> y = x+c

(d) bdry : The lime y=x

(e) domain is gled ,
and (f) unbounded

# 19 f(x, y) = 4x2 + 9y2
9) D : R2
(b) B: [0, x)

() level curves are: ellipses , 42+ 9y2 = c
>

(d) bary : no bary
(e) domain is openclosed and (f) unbounded.
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#mBuy2
#2him (04) = 0

#3li+ (3,4)
2+y2 1 = 24 = 25

#Ylimi (i+) = ( + 5) = (5-) = 3

#5 lim Secutane = seco tun(ty) = 1x1 = 1

(n,g)-> 10,/4)

#

6lim LOS U = COS%-

#7 lim ex -y = goen = (f(nz) + = z"=
(x,y)-> 10,dnz)

#8im In/ly ①2
②

#9limesi notecooned↑

but define F(x
,y) = e3

, glay) =s · Then by Property 4 Product Ral)
on page 816

①line f(x,y)g(a,y)=lim flu) * lim gl 1 + 1 = 1(, y)+0,0) (x,4)+(0,0) =



#10 lim costy) = cos()= cos()
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y
xFY

= limu-y
= 1 - 1 = 0

#16 lim y + 4 54

(sy)-> (2 .-4) JEy-vey+4- 4x
= /im

(x-x)(4)
274 , 2 Fx2

= limex
sy -

xy + 4x2-4x

= x-(y +4) - x(y +y) = jz=
= ( - x)(y +4)

# 18 lim x+ y -4

(n,y) + (2,2)
= lim City +2=2 +2
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Show thatlim flu ,y) DNE
(,y)+(0, 0

# 41 f(x, y) =
- x

Let y= ma

N22+yz

Then flx
,
ma)=this
==m

so fix, y)ly= na

= Em
value of

and henor lim fix,y) = Firms the limit depends

G ,y)-> (0, 0) on m

alongg
=mx

So by the two-path test
,
the limit is DNE/.

#42 fix,y)= Let y=ma

Then fix
,
met==me ·

So lim fin=m2
(2,y)+00,

0

clong y=ma
2

So
, by two-path test the limit is DNE. If

#44 fix ,y) = t let y=ux

Then F(x
,
ma)==-Stit mo

m= 1 By the Tworpath test
Soli- 10,0
f) = Got meet

.

along yeah
The limit is DNEY

#46 flu
,4)= Let y= unx Ito

Then fix,y)= Em=m

Solim+ fly)= So by the Tworpath tests the

along y=ma limit is DNE
. /


